A=20m2

A=27m2
L=10
L=11
L=19
L=19

11

28




0-000 2

4 3

07.01

07.

o oo
<

—

—~~
AN N

~—

N MM—N
[eNololoNo)




0-0003

3 0001
3 0002
3 0003
5.5 0O -0004




0-0004

0004

0005

0006

0007

0008

0009




0-0005

0010

0011

0012

0013

00114




0-0006

19 0015
1 0016
1 0017
1 0018

19 0019




0-0007

0020

0021




0-0008




0001

0-0009

0

-0001




0002

0-0010

DI

0.

28 m3 (

. 5km

0.

2 m3

0

-0002




0003

0-0011

0

-0003




0004

0-0012

0

-0005

cs-21

0

-0006




0005

0-0013

§l5cm

0

-0007




0006

0-0014

0

-0008




0007

0-0015

DI

. 5km

0

-0009




0008

0-0016

. 0* 2.

3/

1.

0

-0010




0009

0-0017

0

-0011




0010

0-0018

0

-0012




0011

0-0019

0

-0013




0012

0-0020

(

) @18 x

(

0

-0014

(

) ¢18x

(




0013

0-0021

1 0 -0015
316A _______________________________________________________________________________

‘ 1

isus _______________________________________________________________________________

‘ 2




0014

0-0022

280cm2

300cm2

0

-0016




0015

0-0023

0

-0017




0016

0-0024

H1100/

2

0

-0018




0017

0-0025

0

-0019




0018

0-0026

0

-0020

0

-0021




0019

0-0027

0

-0022




0020

0-0028

DI

0

-0023




0021

0-0029




0-0030
0 -0001




DI

. 5km

0.

28 m3 (

0.

2m3)

0

-0002

0-0031

—~

. 5km

DI

0.

28m3 (

0.

2n

n3)




0-0032
0O -0003




0

-0004

10

0-0033

0.

0O6m2*10

0.

0O6m2*10.

Om*1. 26

t=1.

0

1.




0-0034
0 -0005
20




CS-21

0

-0006

20

0-0035

CSsS-21

0.

15kqg/

0.

15kag




0-0036
0O -0007
15cm 1




15cm

0

-0007

0-0037

15cm




0-0038
0O -0008




DI

. 5km

0

-0009

0-0039

DI

DI

. 5km




. 0* 2.

3/

1.

0

-0010

100

0-0040

10

. 000

10




0-0041
0 -0011




0

-0011

0-0042

( mm)

260




0

-0012

0-0043

2014




0

-0012

0-0044




0

-0012

0-0045

3.0m

.35t/ m3

( mm)

PK-

50




0

-0013

10

0-0046

W=10mm

t =20mm

10030

JI' S A

5758




) o1

0

-0014

150

0-0047

15




0-00438
0 -0015
96




0-0049
0O -0016
280cm2 300cm2 1




280cm2

300cm2

0

-0016

0-0050

50

280cm2

300cm2




0-0051
0 -0017




0-0052

0O -0018
H1100/ / 2 x 1 1
H1100/ / 20
2
E 8
8
2




0-0053
0 -0019

0.234

. 198




0-0054
0 -0020

0.114

. 097




0-0055
0 -0021

0.001

. 001




0-0056
0 -0022




0-0057
0 -0022




DI

0

-0023

0-0058




DI

0

-0023

0-0059

( km)

2

. 0km

DI




PR 2546 it &




0-€T000—-T-¥—TOVTTT-L0

13 A
B2
i g u |
L
T cw |
o
L g
4 Zu
(GHEA) A 3R
T w m
G
N :
TR
0% g u |
L g
N :
D Iy
NE :
Ty
N :
Al
¢ cw
TP 5
¢ cw
WE S WT
¢ cuw
N1 e
N
T 1E
N
TH5R.
N :
LR
**IMWH%%**
ZH) ([0%) B (Ielne) FYg | 7} & CHE - T HH o NG e e - W - HEE
anl/
1000-0¥ )oK WWM%@%W%% KK




0-€T000—-T-¥—TOVTTT-L0

S

61

=

TRE
W T - ) WY

TR

T

(L W) T H

(T M) ST E
1w

T

GERL) W B

61

=

™

It
T

1T

=

H

B L4 %
TR

=
til

0T

=

TR 8N

&N

H

TR

™

T

=

Ll H %%

4

l
4
)
e

([=11)

=

¥

N w

G B - T B

o NG - [EE - W - HE

000-0E

k ok ZEEEE 5 ok ok




0-€T000—-T-¥—TOVTTT-L0

A T
WG
= m
W
= m
 EESN
T ke
20 3 |
W e
) 2R ENEIDER B - T I/ G- B - B8

k ok ZEEEE 5 ok ok

€000-0HE



br 5 Mt W = T & = Py
& Aol R | B ® B | =
Bh 3 M # = m 19.0
ARy 53 v T H3 t 0.2

B SEATHE i 1.5km t 0.2




2 Al = = =
PhEgimiEE T 1T %Y
KmE& Y
GeEMEE | L= (3.0+3.0+3.0+1.0)+(2. 0+3.0+3. 0+1.0) = 19. 00 19.0 m
FEWMEE =
r\3.0m 3.0m 3om —t +O0m
.
//
g g
1 o
20m 4L 3.0m 3.0m —L 1.0m
A5y XMk Y W= 166.8 kg = 0.2 t




BRax B E T

R
el e A |BEUBE|1rurvus| HE S
O AERE (150 x50 % 1.6 1000 2| 2.360 2.360 4.7
AR E [150x50x1.6] 2980 2| 2.360 7.033 14.1
pakii ¢ 10 750 15| 0.617 0.463 6.9
@/at 25.7
@ AEMmE (150 x50 % 1.6 1000 2| 2.360 2.360 4.7
AR E [150x 50 % 1.6 900 1| 2.360 2.124 2.1
AR E [150x 50 % 1.6 5900 1| 2360 13.924 13.9
AR E [050x50x1.6[ 2930 2| 2.360 6.915 13.8
AR E [116x16x 1.2 750 16| 0.621 0.466 7.5
AR E [125x25x 1.2 750 5| 0971 0.728 3.6
AL D10 750 1| 0560 0.420 0.4
@/Et 46.0
® AERME (150 x50 % 1.6 1000 1| 2.360 2.360 2.4
AR E [150%x 50 % 1.6 950 1| 2.360 2.242 2.2
AR E [150% 50 % 1.6 900 2| 2.360 2.124 4.2
AL D10 750 8|  0.560 0.420 3.4
®hat 12.2
OQB&E 83.9




A

el e A |BEUBE|1rurvug| HE S
@ AERE (150 x50 % 1.6 1000 2| 2.360 2.360 4.7
AR E [150% 50 % 1.6 1400 2| 2.360 3.304 6.6
pakii ¢ 10 750 13| 0617 0.463 6.0
@INE 17.3
® AERE [150 x50 % 1.6 1000 2| 2.360 2.360 4.7
AR E [150x 50 % 1.6 900 1| 2.360 2.124 2.1
AR E [150x 50 % 1.6 5900 1| 2360 13.924 13.9
AR E [150x 50 % 1.6 2930 2| 2.360 6.915 13.8
AR E [116x16x 1.2 750 15|  0.621 0.466 7.0
AR E [125x25x 1.2 750 6| 0971 0.728 4.4
F 50 D10 750 1| 0560 0.420 0.4
®/; 46.3
® AEMmE (150 x50 % 1.6 1000 1| 2.360 2.360 2.4
AR E [150% 50 % 1.6 950 1| 2.360 2.242 2.2
AR E [150x 50 % 1.6 900 2| 2.360 2.124 4.2
F 50 D10 750 8|  0.560 0.420 3.4
@)z 12.2
@®BeO®FE 75.8




) Es | me |¥mAE| @B | A=
@ BEEH 2.6x100x100 6050 700 0.840 4.235 3.6
® BEDH 2.6x100x100 5980 700 0.840 4.186 3.5
@Bkt 7.1
&t

166.8|kg




b 8 Mt 5 & T & = % %y
i Aol R OB B 2 | & =
7on—RILREE|  FXTC-211630 | m 19.0

HERE M = i 2.20

+hzt e 8.0




& Al =1 = # =
BEMEET 1zt %y
Hm&ly
sum—mnrEE | L= (3.0+3.0+3. 0+1.0)+ (2. 0+3. 0+3. 0+1.0) 19.00 19.0 m
FXTC-211C30
A % & U L&
BERE A= (2.0x0.55) - 2.200 2.20 ™
tehst N= 8 8 &EFT
FEMAE w0
—_— e
L] TH wWEEES
P L -
3.0m T 1.0m

3.0m 3.0m
SR ERE [E AT (1)
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d p ; it
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s T 3 \Z
i

20m  —

AR E AT (RIE)
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oM OB L O =B L3t %y
Fii Bl B | BAL [ K fii
WO oM = m2 25.0
& A Rl B0 t=40mm m 12.56
Bh e Rl M m t=15cmLL m2 25.0 t=40mm
As % A B m3 1.0 W=2.3t
+ W E E R m3 3.0
oo om | TEEEN S | me 26.7 =50mm
Az T (RC-40) | m2 14.3
RO m3 0.4
T A —T m 11.0




i il A = g =
ARSI T 104D
SRS t=40mm
fe&m Al= 5.5 X 2.60 = 14.300
e A T A2= 2.6 X 2.00 = 5.200
A T A3= (2.6 + 4.76) X 1.50 = 2 = 5520
A= Al + A2  + A3 = 25.02 25.0 m?
SAE R BT | L= 26+ 26+ 26+ 4.76 = 12.560 12.56 m
a5 R IR e | A= AR L FISSE
1SemEL T A= —  95.020 95.0 2
AsiRULER V= 25.020 X 0.04 1.001 1.0 m®
W= 1.001 X 230 (t/m3) 2.302 2.3 t
A hb S A= 55 X 3.6 19.800
V= 19.80 X 0.15 2.970 3.0 m°
= DR
MEEIN | T (F A R AS(20F)) t=50mm
fem Al= 5.5 X 2.90 = 15.950
e AR T A2= 2.6 X 2.00 = 5.200
AN T A3= (2.6 + 4.76) X 1.50 = 2 = 5520
A= Al + A2  + A3 = 26.67 26.7 m’
T (RC-40) t=260mm
A= 5.5%(2.90-0.30) = 14.300 14.3 m°




Filt alll A = 'y 7

WOHE R

A= 0.218%0.300-0.068 2% x /4 = 0.060

V= 0.060%5.50%1.26 = 0.420 0.4
W HUBS RS — B (B R =27 LV A AR MEAT t=1.071.1mm)

A= (0.30%2+0.218%2) %5.50 = 5.700 5.7
T A —T

= 5.50%2 = 11.00 11.0

A= (4.0+19.6) /2%25.0 = 295.00 295.00

I E EAE T W=10mm t=20mm
L=  2.60%2 = 5.20 5.2

Na—r R —U T

V= 0.01%0.02%5.20%1.25%1000 = 1.30 1.3




B

KT K

=R
H

1 X %y
i A h57) B AL | & il C:
™ o a H m2 19.8
&R M %A m2 19.8
N = CS—21[r)%:
s M 0.15ke/m2% 2[5l kg 6.2
B Wy & Kk & | oI8RLAF—@%H | m 9.8
E 4 A & 8
E 4 H H
7 v H — A 16




@ A 5 2 ®OR

F& B 7K L 1% Y
™ o B PR _E

A= 5.5X3.6 = 19.800

19.8 m°

Gl M B | PR EFELY

A= 19.800 19.8 m®
4 B M | W= 19.800 X 0.30 kg/m2 5.940
0.€§;§}$§5T51 OAL5% 5.9 X 1.05 6.195 6.2 kg
RE Wi k& | L= (3.60+0.55+0.55+0.10+0.10) *2 9.800 9.8 m
E 4 B[ N= 8.0 8
[ & 4 5 H _
> ol N= 8%2 16.0 16 &




Wr m & H L #H = e
Fil Bl k| AL | K T it
Wr | & 18 M [ RV~—kArEAZL] m3 0.198

7T A~ — WL TARX R kg 1.320




filt Al = Y Py &=
WrimE1E L 1%y
Wr i & 18 A R)~— ANV
& R Emo1/388E (kG712 - 8- bh s ER & T p)
A=55 X 3.6 X 1/3 A = 6.6000
FEITOVIEZZ30mmET 5
V = 6.60 X 0.03
V = 0.198 0.198 m®
T~ — LB TARFUMEIE  0.20kg/m2
RAR 1/ 348 A = 6.600
W= 6.600 X 0.20 kg/m2 = 1.3200 1.320 kg




Wr m & EH L = e
i | B | AL | K i i
W s M | RU~—tarELsr | m3 0.097

Wr m e " M [ AVv—eAbEA2L | md 0.001

T TA~ — LB AR g kg 0.406




i alll =1 X % B
Wriai &8 L 1A%
Wr i & 18 A R)~— ANV
O (BEfp /L - BB B SF LD )
FEEHER LD Vo= 0.0970 0.097 m®
@ (Brfn/rL s« BRp LS LB L)
EEHER LD Vo= 0.0010 0.001 m®
TN~ — L TARFBE  0.20kg/m2
EEHER LD A = 2.028
W= 2.028 X 0.20 kg/m2 = 0.4056 0.406 kg




i pall = ¥ i
W E1E T WrmfE1E iR
& | Hgoms | ks | wo | Lm | D | NG | Am2) [ v(mg)
i v
1 PR A FAHM7 0.100 0.300 0.030 1 0.030 0.0009
2 Bk FHr 0.450 1.450 0.030 1 0.653 0.0196
3 PR A FAHM7 0.750 0.500 0.030 1 0.375 0.0113
4 Bk FHr 0.100 0.400 0.030 1 0.040 0.0012
5 PR FAHM7 0.200 0.400 0.030 1 0.080 0.0024
6 Bk FHr 0.200 0.350 0.100 1 0.070 0.0070
7 PR FHM7 0.300 1.500 0.070 1 0.450 0.0315
8 Bk FEHr 0.300 1.100 0.070 1 0.330 0.0231
2.028 ’
it 2.028 | 0.0970 0.0970 m*
&5 | pgoms [ wps | W | tm [ b | NG | am2) [ v
i
9 FOBE B 0.100 1.000 0.010 1 0.100 0.0010
0.100 mp?
Bat 0.100 0.0010 0.0010 °
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